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I- Choose the correct answer (25 marks, 5 marks each)
1) A thesis statement of an essay must:

A) state a fact  B) have a specific focus C) include a predictor D) all
2) Derﬁonstrative pronouns and definite articles are used in an essay specifically for:

A) coherence B) cohesion C) unity D) both A&B

3) In the conclusion of a summary, you ...

A) restate the author’s overall idea B) add your opinion C) summarize the main points
A e is when you create an odd combination of the text’s original wording and your own.
A) Plagiarizing B) Paraphrasing C) Plagiaphrasing D) Contextual clues

5) if you omit part of a direct quotation use:

A) Commas B) brackets C) ellipsis D) colons

D) all

11- Add punctuation to the following direct guotation. Change the Capitalization if necessary ( 5 marks)

Contrary to what most people believe, smoking has many advantages stated Maria. Smoking can reduce stress she

explained and make you feel relaxed.

111- Write the name of the mistake committed in the following sentence and correct it (5 mq_rks)

Studying for many hours is typical of Adam. Beiné a hard-working student.

IV- Write an essay of 250-300 words about ONE of the following ideas (65 marks)

1) How can you live a healthy life?
2) What are the steps you should follow to succeed in an exam?

3) What are the advantages of the Internet?

End of Questions

Good Luck!
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